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1A -SF4A 0 2,810 -2,810
1.8 99 0 2,810|  -2,810|28d 1199k AEH] : -110,0009 = -110,000
2;34@ 1199FA A& xF2F] : -1,200,0009 ~1.200.000
58hd 1199 A1 F 4] -300,000 = -300,000
5_‘61}@ 119k AR AH#H] ¢ -1,200,0009 ~1.200.000
2.5k okA S 15,642 15,642 0
1.3 15,642 15,642 0
3.t &9 56,100/ 54,600 1,500
1.9 56,100| 54,600 1,500
1. AR 8 A - 8,000 8,000 0
1.3 8,000 8,000 0
2. 798 shdashd) 4,000 4,000 0
1.3 3,607 3,607 0
2. BAAG 10 393 393 0
3. AEd(23hd) 4,000 4,000 0
1. 0520 3,600 3,600 0
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8. Fu STt 10,000 10,000 0
1.9 7,830 7,830 0
2. 05 H| 1,750 1,750 0
3. B AAE A1 420 420 0
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1. WS- 500 500 0
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1.8 wA R Y 8,400 8,400 0
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1. 0599 2,450 2,450 0
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1. g Hk=8H 40,400 40,400 0
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2. ¥]5E T4 M 19,636 19,720 -84 |ElEE 7Y : -84,0009 = -84,000
6.3+ 3] A 10,000 0 10,000
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8. S WA WK B ) A 10,791 0 10,791
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1. dnkpgn) 1,000 0 1,000 gﬁﬁ?ﬂgﬁéﬂw%%” + 1,000,000 1,000,000
6.0 Uukeg 186,308 205,613 -19,305
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47104 A ARG R 1,976 1,776 200| A4 WHARGF  100,0009%2 = 200,000
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1.3 9134 1,300 1,300 0
1.3 23 91 3% 1,300 1,300 0
1.99H] 200 200 0
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